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Question Number : 1 Question Id : 583224980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following executes the mstuctions of a computer program by performme the basic operations, control and
mput ontput tasks

Options:
1 % Motherboard

> o CPU

- % Cache memory

4 % Main memory

Question Number : 1 Question Id : 583224980 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ﬁmﬁﬁﬁﬁg#mmaﬁﬁﬁ AfFae, o= 3 SAgEAETE FE N FET WAH & fadei
Treaies woar £

Options:

| & FEIEIS

> ¢ CPU

. » & (Cache) #F

4 ® ﬂ?m

Question Number : 2 Question Id : 583224981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A computer receives data and instructions through for processing.

Options:
1 ® VDU

-  Input devices
= % Plotter

4 w Output devices

Question Number : 2 Question Id : 583224981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 583224982 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following uses flip-flops and does not require periodic refreshing?

Options:
; ® DVD

> « SRAM
2 % DRAM
4 % ROM

Question Number : 3 Question Id : 583224982 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, » DVD
- v SRAM
- » DRAM
, # ROM

Question Number : 4 Question Id : 583224983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A computer of medium power. more than a microcomputer but less than a mainframe is called:

Options:
1 % Supercomputer

5 of Minicomputer
5 » Hybrid computer

4 % Microcomputer

Question Number : 4 Question Id : 583224983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 583224984 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

With respect to computer performance measurement, FLOPS stands for:
Options:
; w FLoating-point Operations Per Sector

-  FLoating-point Operations Per Second
5 % Fuzzy Logic Operations Per Second

4, » Fuzzy Logic Operations Per Sector

Question Number : 5 Question Id : 583224984 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 583224985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a property of non-impact printers?
Options:

, w Fast printing

-~ » High-quality prints

-  Noisy

4 » Color prints

Question Number : 6 Question Id : 583224985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 583224986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False.

I Touchpad is an alternative to the mouse.
II)  Joystick is also a pointing device.
III) CRT monitors are heavy and bulky and could be monochrome or colored.

Options:
; % I- False. II - False, III - False

5  1-True II - True. III - True
s % L-True II - True, III - False

4 % 1-True, II - False, III - False

Question Number : 7 Question Id : 583224986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 583224987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

Set-1 Set-2
I) SRAM A) An interface between CPU and RAM
II) DRAM B) RAM that does not require periodic refreshing
IIT) Cache C) The brain of the computer
IV) CPU D) RAM that requires periodic refreshing

Options:
, » I-B.II-D,II-C.IV-A

, % I-B.II-C.II-A.IV-D
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, % I-D.I-C.II-B.IV-A

Question Number : 8 Question Id : 583224987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 583224988 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The assembly languages are programming language.

Options:
, w frst-generation

o o Second-generation
5 % third-generation

, » fourth-generation

Question Number : 9 Question Id : 583224988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 10 Question Id : 583224989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Media players and real players are the examples of:



Options:
1 ® DpEl‘atiﬂg system

> u Utility software
3 o Application software

4 % System software

Question Number : 10 Question Id : 583224989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 583224990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid category of operating system?

Options:
| « Multi-casting operating system

- » Multi-user operating system
- u Real-time operating system

, % Multitasking operating system

Question Number : 11 Question Id : 583224990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 12 Question Id : 583224991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The best known example of open-source software is:
Options:
1 « Linux

> % Windows XP
= % Adobe’s Acrobat Reader
4 ® MS-Office

Question Number : 12 Question Id : 583224991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 583224992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is false?

Options:
, % Linuxis an open-source software.

- % Operating system manages computer resources and allocates them to different processes.

- % Embedded software is also called as firmware.
4  Android is a utility software.

Question Number : 13 Question Id : 583224992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 583224993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is equivalent to 8 Gigabyte?
Options:
; « 2% Bits
> % 2% Bits
. 30 Bits
4 % 27 Bits

Question Number : 14 Question Id : 583224993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 583224994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A minimized window appears as a button on:

Options:
1 « Taskbar
> # Title bar

- % Desktop

4 % Recycle bin

Question Number : 15 Question Id : 583224994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 583224995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Copying data from computer to CD is called:
Options:
; » Downloading

o  Buming
5 % Ripping
4 % Uploading

Question Number : 16 Question Id : 583224995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FUET F =MeT & CD & FHdT et Fr FEl AT gl

Options:

1_@3313?#@'
o v T
5 x {9
4.333#@13

Question Number : 17 Question Id : 583224996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options is often required as part of installing new software?

Options:

; % Sleep

> # Hibernate
= « Restart

4 » Logoff

Question Number : 17 Question Id : 583224996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 583224997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The number of pixels on a display device with display resolution 512 x 256 is;

Options:
1« 131072

> % 512
% 768
% 256

Question Number : 18 Question Id : 583224997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| v 131072
, % 512
- = 768
. % 256

Question Number : 19 Question Id : 583224998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False.

I) A maximized window cannot be minimized.
II) A maximized window cannot be closed.

Options:
1 % I-True. II - True

5  1-False, II - False
5 % L-True II - False

4 % 1-False II - True

Question Number : 19 Question Id : 583224998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 583224999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

Set-1 Set-2
I) BIOS A) Display device
II) Resolution B) Booting process
III) Master Boot Record C) Firmware

Options:
. % [-A/II-C.III-B

, » 1-C.II-A II-B
2w [-C.II-B.II-A
. % I-AII-B.II-C

Question Number : 20 Question Id : 583224999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 5832241000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Keyboard shortcut to bring the Desktop in front is:

Options:

| « Windows key +D
> % Ctl+D

z ® Alt+D

4 % Ctl+Alt+D

Question Number : 21 Question Id : 5832241000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:

L e &S+ D
1. R

. % Ctrl + D
- % Alt + D
. % Ctrl + Alt + D

Question Number : 22 Question Id : 5832241001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following copies itself and infects other files stored on the computer?
Options:

1 & Virus

-~ » System files

5 » Data compression software

4 # Antivirus software

Question Number : 22 Question Id : 5832241001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 5832241002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Turning Cipher text to Plamntext is called:
Options:

1 Decryption

- » Encryption

5 % Compression

4 » Filtering

Question Number : 23 Question Id : 5832241002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

Question Number : 24 Question Id : 5832241003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A(n) is used to identify. prevent and remove viruses from a computer.
Options:

, % Compression software

> o Antivirus

- » Encryption algorithm

4 % Decryption algorithm

Question Number : 24 Question Id : 5832241003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 5832241004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following are designed to allow a hacker to target a remote computer system?

Options:
1 ®% Anfivirus

-~ % Worms
5 # Viruses
4  1rojan horses

Question Number : 25 Question Id : 5832241004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 5832241005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False.
I) Passwords are generally case-sensitive.
IT) A password never contains white-space characters.
Options:
, = I- False. II - False

> « 1-True, II - False
z % 1-Tre II - True

4% L* False. II - True

Question Number : 26 Question Id : 5832241005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 5832241006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The FAT file system uses character to separate file name from the extension.

Options:
| beriod ()

5 % Comma (.)

5 u dollar ($)



4 % hash (#)

Question Number : 27 Question Id : 5832241006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 28 Question Id : 5832241007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Files containing instructions for the computer are called:

Options:
1 # Document files

o5 o System files

= # Folders

4 % Directories

Question Number : 28 Question Id : 5832241007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 29 Question Id : 5832241008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The keyboard shortcut to rename files or folders in Windows is:

Options:
1 ® F5

o R F3

o o F2



4 ® FS8

Question Number : 29 Question Id : 5832241008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 5832241009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

WinZip is a popular utility software for:
Options:

, « File compression

- » File encryption

5 » File decryption

4, » File renaming

Question Number : 30 Question Id : 5832241009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 31 Question Id : 5832241010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following DOS comunands prepares new disks for storing files and folders into them?

Options:
, ® XCOPY

> % CHKDSK
5 % DELTREE
4 v FORMAT



Question Number : 31 Question Id : 5832241010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| ® XCOPY

. % CHKDSK

- » DELTREE

. v FORMAT

Question Number : 32 Question Id : 5832241011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False.

I) The files that contain instructions for the computer are called document files.
II) A folder may contain files as well as one or more subfolders.

Options:
1 « 1-False I - True

5 % 1-Trme II - False
z ® I-Tre, II - True

4 % 1-False II - False

Question Number : 32 Question Id : 5832241011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 5832241012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about MS-Word is true?

Options:
1 ® MS-Word documents cannot be saved as HTML files.

> % MS-Word is a freeware.



5 # MS-Word is an open-source software.

4  MS-Word is a word processor.

Question Number : 33 Question Id : 5832241012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 34 Question Id : 5832241013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Keyboard shortcut to open font preference window in MS-Word is:

Options:

1 % Cl+F
>  Cil+D
= % Chl+P
4 ® Ctrl+ A

Question Number : 34 Question Id : 5832241013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % Ctrl + F

5 & Ctrl + D

- = Ctrl + P

4 % Ctrl + A

Question Number : 35 Question Id : 5832241014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In MS-Word. the maximum font-size that can be selected from the font-size menu is:

Options:
1 ® 96

2 o 12
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Question Number : 35 Question Id : 5832241014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UA.TH-TE (MS-Word) #, ¥fieas wiee-ame F &, B Sec-9eT an # ¥ 9 S " 22
Options:

o 12

Question Number : 36 Question Id : 5832241015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Keyboard shortcut in MS-Word to move the cursor down one paragraph in a document is:

Options:
; » Alt+Up arrow
> « Ctrl + Down arrow

5 w Ctrl+Up arrow

4 % Alt+Down arrow

Question Number : 36 Question Id : 5832241015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T sfegie & v W & A U7 B o9 & T THUE.-EE (MS-Word) & EICIE
sTEFE 2l

Options:

, = Alt + 3T O
o« Ctrl + =13 O
s % Ctrl + 319 &1
4 % Alt + 33 T

Question Number : 37 Question Id : 5832241016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Maximum number of cells in a Word table having 12 rows and 8 columns is:

Options:
1 ® g

o> R 12

= o 06



4 ® 20

Question Number : 37 Question Id : 5832241016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

12 T 3R 8 FiorH arer I8 TaaT H HfAFaA Felt & JEr gl
Options:

1 % 8

> % 12
z « 96
4 % 20

Question Number : 38 Question Id : 5832241017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

LIST-1 LIST-2
I) Zigzag red underline A) Checks spelling and granmumatical mistakes
II) Zigzag green underline B) Possible spelling error
IIT) Spellcheck C) Possible grammar error

Options:
, » I-C.II-B,IIl-A

, % I-AII-B.II-C
5 % I-B.II-AII-C
4 v I-B.II-C.II-A

Question Number : 38 Question Id : 5832241017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TaoRg &1 AT fI=av]

T -1 T -2
) TSeTteT o @i A) T 3T =TT fr TafaAt Fr SEar g
1) F&HeT=reT &% Y@ B) TafaT Fo=r T
) TIer=e C) HHIEa STTeRIUT TR
Options:
% 1-C, Il-B, ll-A
>xl-A I1-B Ill-C
sxl-B II-Alll-C
L l-B II-C Il -A



Question Number : 39 Question Id : 5832241018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about MS-Excel is false?

Options:

, % MS-Excel is an electronic spreadsheet.

> % MS-Excel files are called workbooks.
= « A worksheet contains one or more workbooks.

4 % A workbook contains one or more worksheets.

Question Number : 39 Question Id : 5832241018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=T # @ #i9 a1 Fu, tA.TH.-tFdT (MS-Excel) F Fwg & 7o 72

Options:

|« UATH-TFEA (MS-Excel) T& Foralias T30 &
, x THA.TE-THE (MS-Excel) TR F THGF T &l
- T Fefle H TH A HOF THIF g 8
U FRaE A TF AT HiUw IRl @ A

4 ®

Question Number : 40 Question Id : 5832241019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The columns in MS-Excel are lines and they are denoted by

Options:
| % vertical: numbers

5 % horizontal: letters
-  Vvertical: lefters

4 % horizontal: numbers

Question Number : 40 Question Id : 5832241019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U UH-TFET (MS-Excal) H T o g ¥ st s zarr RfEes e == &
Options:

| w BEARIY, FEATIT

o w Sifcret, 378TT

L » AT 3R

. w SifceT, FEarsr



Question Number : 41 Question Id : 5832241020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Keyboard shortcut to select the entire worksheet is:

Options:

1 & Cl+A
> % Crl+W
s 8 Ciol+S
4 % Cil+U

Question Number : 41 Question Id : 5832241020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FEIOT FRefie T =TT I &+ o0 FEE oEFeT T
Options:

, @ Ctrl + A

, % Ctrl + W

- % Ctrl + S

4 % Ctrl + U

Question Number : 42 Question Id : 5832241021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The absolute address of the cell at the intersection of 7 row and 11™ column is:
Options:
i %2 TK

3 « SK$7

Question Number : 42 Question Id : 5832241021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
78 o AR 119 FoF & dia=oed F& F QW 947 gl

Options:

1 % 7K
5 7
3  SK$7
4 % $7%K

Question Number : 43 Question Id : 5832241022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
The value of the Excel expression “=4*2"0/4" is:

Options:
1 ® 0.25
2« 1
= % 4
4 % 8

Question Number : 43 Question Id : 5832241022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TFHeT TFHYRNA “=4+2°0/4" & AA &

Options:

% 025
2« 1
3 % 4
4 % 8

Question Number : 44 Question Id : 5832241023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When an Excel cell is not wide enough to display the value that it has calculated. then it displays
a string of symbol.
Options:
1 = 3
2 o ¥
= % &

4@@

Question Number : 44 Question Id : 5832241023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FE UF UFHA FHT NUE Y U 5 7 92hE FE F B0 98y =tEr A9 g 8 AT I

wdte &7 ve TRew &t w2y s B
Options:

EE:

> H#

2 % &

4.&5@

Question Number : 45 Question Id : 5832241024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



State whether the following statements are True or False.

I) A workbook cannot contain more than three worksheets.
IT) Name Box displays the address of the active cell.

Options:
1 % I-True II - False

>  1-False II - True
z % I-True, II - True

4 % 1-False II - False

Question Number : 45 Question Id : 5832241024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fafese fifer F=RET Fa= @ & a1 =9
) TF Fohge H A § AfOE TRl A2 & Heholr 8
) 71T STFT T O T USF 2Teer #aT B

Options:

Lo |- FE N - e
o o |- T, - '
2w |- F&, Il - FE

, x| - 7eE, 1l - T

Question Number : 46 Question Id : 5832241025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

LIST-1 LIST-2
I) Active cell A) Left aligned
II) Firstcell B) Currently selected cell
III) Texts C) Right aligned
IV) Numbers D) Al

Options:

1 ® I-D.II-B.III-C.IV-A
> I-B.II-D.III-C,IV-A
3 I-B.II-D.III-A.IV-C

, % I-D.I-B.II-AIV-C

Question Number : 46 Question Id : 5832241025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



=g &1 AT ST

L T 2
v R A) wTE TR
) T B) I9AH H =Of=a O
iy  eFee C) = TR
V) s o
Options:
1. ® |-D, Il -B, Il -C, IV-A
2 % ' Bs Il - D, I - C, vV - A
2wl -B Il-D I-AIV-C
4 % 'z D: Il - B, I - A, N -

Question Number : 47 Question Id : 5832241026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following categories of network is nsed to interconnect computers across larger geographical areas like
o cities or states or countrias?

Options:
1 ® LAN

5 % MAN
5  WAN
4 B PAN

Question Number : 47 Question Id : 5832241026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fofafae & 7 a29F &1 =7 o 4o 57 s9oeT 2 o5t o T O o 2 At dieEs s A
Sl & HIF H FSd & o0 94097 G Fer E7

Options:

1 % LAN
> = MAN
= « WAN
4 % PAN

Question Number : 48 Question Id : 5832241027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
With respect to Internet. TCP stands for:

Options:



1 +« Transmission Control Protocol

> % Tuming Control Public
5 % Telecommunication Computer Protocol

4 % Telecommunication Computer Program

Question Number : 48 Question Id : 5832241027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST & Heas H, TCP & qUT &9 g

Options:
| » STHTARE FHe JIerhrd
, x CieAeT FIe afeetsh
N e
SR aeheld FFgel Flarhic
T W ] &,
, w SRR HFGE SETH

Question Number : 49 Question Id : 5832241028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The WiFi is an acronym for:

Options:
w Wired Fidelity

1
o o Wireless Fidelity
5 % Wireless Firefox
4 % Wired Firefox

Question Number : 49 Question Id : 5832241028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TEFEE FEH TF WiETT o 37

Options:

, = args fRsferdr
> AT Referr
- % IIITIE HIRIIHIFH

4 % IITS FIROTHIFH

Question Number : 50 Question Id : 5832241029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following types of connections uses a telephone line for connecting to the Internet?



Options:
1 % Cable

- % Satellite
5 % Wireless

4  Dial-up

Question Number : 50 Question Id : 5832241029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Seleie ¥ Aisa F v TaRa & § 9 991 # Fae, SR oS T 3TART Fidr 272

Options:

1 ® m
= . HETFE

=z ® m
4 « SIUA-39

Question Number : 51 Question Id : 5832241030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False.

I) A web page is assigned an online address called URL.
IT) Blog is the short form of Web Log and it is generally created and maintained by an individual.

Options:
; » I-False II -False
> % 1-False, II - True

z  1-True II - True

4 % 1-True II - False

Question Number : 51 Question Id : 5832241030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
fAfese fIfFT FAeA@d Hya Ter g I1 Terd|
) T I I FT TH FATASST 947, URL Fgarar gl
) ==TeT, 9 ST T WiEeT §9 § A Ig NMHEAR W UF Aed anT F197 AR sFaieyd
@ S gl

Options:
Lo |- T, |l

1843

L w |- 7, i

4

3.@?[

x| =8 )



Question Number : 52 Question Id : 5832241031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

LIST-1 LIST-2
[} Mozilla Firefox A)URL
I HITP B) Web browser
IIT) http://www.google.com C) Protocol

Options:
. % [-A/II-C.III-B

, » I-B.II-C.II-A
2 % [-AII-B.II-C
. % I-B.II-ATI-C

Question Number : 52 Question Id : 5832241031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=g &1 AT ST

-1 -2
) AT FRREEE A) URL
Il) HTTP B) I 3=
1) http://www.google.com C) wieiprer
Options:
o l-AN-C. Ul -B
sapd =B 0N -6 Bl - A
2 l-A ll-Blll-C
s l-B II-All-C
READING COMPFREEHEMNSIOM
Section Id : 583224122
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section Id: 583224122
Question Shuffling Allowed : Yes

Question Id : 5832241032 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53to 57)
Cuesticon Label | Comprehension

Read the following passage and answer the questions given
after it.

One woman whom future generations in Uttarakhand are not
likely to forget is Gaura Devi. She educated the women of this
region to protect the trees.

Gaura Devi had no formal education. She was only trained in her
family’s traditional wool trade. but was aware of the poverty of
the region. She was aggrieved to look at the sufferings in her
region.

She always referred to the forests as gods because the people of
the village were dependent on them for their daily necessities. She
respected the green cover as it was not only a source of livelihood
but also an important lifesaver for all- flora. fauna and the human
species. In an interview Gaura Devi once said. “Brothers, these
forests are like our maternal home. We get herbs. fuel. fruits and
vegetables from them. Cutting the forests will result in floods."”

She educated the people about the importance of forests. It was
from there that they retrieved firewood and wood for construction.
It was also in that jungle that they took their animals to graze and
collected fodder. In their hilly region. trees also prevented
landslides.

When the government authorized the felling of the trees in the
area and sent contractors to chop trees Gaura revolted against the
action. She and 27 other women of Reni in Uttarakhand stood in
a row around the trees joining hands. each one of them looked like
the mountain goddess who had taken one of her fierce forms.
They hugged the trees to save them from being axed. Following
the first brave Chipko action. the resistance to the destruction of
forests spread throughout India and became known as the Chipko
Movement. 26th March 1974 is known as the historical day in
Chipko Movement.

Sub questions

Question Number : 53 Question Id : 5832241033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Gaura Devi stood up to protect
Options:

1 % animals



- % soil erosion
5 o lrees

4 w hatural gas

Question Number : 54 Question Id : 5832241034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Gaura Devi addressed the green cover as:
Options:

1 # atravel destination

- » solitary abode
=z # God’s abode

4 + maternal home

Question Number : 55 Question Id : 5832241035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Cutting the forests will result in floods™- from this we can conclude that Gaura Devi was:
Options:

| « logical & scientific

- % passionate & adorable

= % observant & conscientious

4 % motivating & inspiring

Question Number : 56 Question Id : 5832241036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
26™ March is considered a historical day because:
Options:

the women in the Reni village hugged
, = each other in joy

the women in the Reni village hugged

o  the trees from getting chopped

the women in the Reni village greeted
- % the Chipko Leaders

a rule was passed by the government to save
4 % the trees

Question Number : 57 Question Id : 5832241037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



“Earth Heroes™ is a befitting title for the passage
because it describes:
Options:

the heroism of a political character born on
1 % this earth

the heroic efforts of our national leaders
> % to save the earth

- % the efforts of our environmentalists to save the earth

the heroic efforts of the women of this soil.
4 + to save the earth

Question Id : 5832241032 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53to 57)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 5832241033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

simad, . 00 FremF v ss g
5‘% off |

Options:

1 % CIECE)

% o1 A

B.Jq&-ﬂ-
, % Tpice 3|

Question Number : 54 Question Id : 5832241034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Mo agEersa 00 O FFH
garea f&ar o

Options:

. % T ITA I
> % UHled ey
- % SEA & fHarg

Question Number : 55 Question Id : 5832241035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

"TAT PN Fe & INOTHEEET d€ H JE
geMM" - 3 FUT § FH FFA o9 o &
f, st edr o

Options:

1{?‘“%3‘?'?%

EI@EFB-T’ITW

2=

., % SOTES AT ScATer

Question Number : 56 Question Id : 5832241036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



26 AT Fr TF Ve & AT T g,
FTeR:
Options:

oft amg & Azt 7, @ F gAY =
| % el ST o

Yofr aita #r ARzt A, Fed T TTH F
z_yﬁ-gs JeIT FT IS T AT AT

ot =ia & FAfgenst F, "o FasT 7
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F&Tr & F9 & AT, SWER @ vE A
q B qﬁﬁmmm

Question Number : 57 Question Id : 5832241037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

"g2dT & ERT (Earth Heroes)" g8 12amer &
Rr s sEalaT v g =EF |
& T LT B

Options:

$H e W U7 U TR AR
| % SLdr

ET FF FEH & U, gAN [T AT F
o » TEHS FITEr

o @ T % v, gAY e %
5 % FATE

QA W w= & A, s R B Aot
., v F TEfEw et

OUANTITATIVE APTITULDE
Section Id : 583224123
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section Id: 583224123
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 5832241038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 3888 is divided by the square of a number and the answer so obtained is mwltiplied by 21. then the final answer is
252, What is the number?

Options:
1 ® 17
o> o 18
= % 19
4 % 16

Question Number : 58 Question Id : 5832241038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

oty 3888 1, & wew & I ¥ Fafad B s & #R v 3 # 21 § aon B S g, A
AW FeaT 252 Wed FiOT | g% FE w4 g7

Options:

Question Number : 59 Question Id : 5832241039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Alkash purchased 4 articles for Rs. 140 and sold 5 articles for Rs. 200. His profit percentage is:

Options:
L % 12.25%

> % 18.80%
3 « 14.28%

Question Number : 59 Question Id : 5832241039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HTTRT 140 T F 4 T wiEAT § ¥R 200 ¥4 F 5 IEAV 49 AT &) IW A wieen &= £
Options:

. % 12.25%
, % 18.80%



2 v 14.28%
4 % 24%

Question Number : 60 Question Id : 5832241040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A and B can complete a work in 45 days, B and C can complete it in 60 davs, and A and C can complete it in 73 days,
In how many dayvs B alone will be able to complete the entire work?

Options:

, = 60days

> w 05 days
5 o 18.26 days
4 % 08.26 days

Question Number : 60 Question Id : 5832241040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A ¥t B =T = 9 FT 45 B & 0 Y HFA &, B 3R C et 30 F & 60 BE F 9w
T Heo &, 79 A 3T C Tiwst 50T w3 #7 75 BT & 9 7 TFS §) B e, 3O wE T G
FAT # T FT HET 7

Options:

; = 60 fest
o = 65 fea
5 v 78.26 &=
4 » 68.26 f&a

Question Number : 61 Question Id : 5832241041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average height of 30 students i3 170 cm. On a particular dayv, it was found that four students were absent and the
average heighl of remainimng 46 students is 168 cm. Find the average height of absent students.

Options:

1 % 190 cm
>~ % 191 cm
= % 192cm

4 « 193 cm

Question Number : 61 Question Id : 5832241041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
50 oTar £ tEs FEs 170 A § R Rew Bw, 3w o o & 9w o aeethE O A 9w 46
ot @ stEw Fed 168 B ¥ swEthE ot & stem T e A

Options:




, % 190 ®.AY.
> % 191 WA
5 % 192 AL
193 @.#.

=
4

Question Number : 62 Question Id : 5832241042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The anmual income and expenditures of man and his wife are i the ratios of 5 ; 3 and 3 ; 1. respectively. If they decide
to save equally and find a balance of Bs. 4.000 at the end of year. their income were:

Options:
1 Rs. 5,000, 3.000

> % Rs.6.000,4.000

= % Rs.3.000, 2.000

4 % Rs.5.000,6.000

Question Number : 62 Question Id : 5832241042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T Ot 3T TEeT gt o Tt o st = FATEFAT 533 TR AR I TE
TTHA T99 F1 & @00 #id &, T=Es S0 99 & 37 7 4,000 ¥4 95 F94 &, Or ST 3T
=T a7

Options:

. » ¥ 5,000, 3,000
, » % 6,000, 4,000
. » % 3,000, 2,000
% . 5,000, 6,000

4

Question Number : 63 Question Id : 5832241043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The circumference of a circle is twice the perimeter of a rectangle. The arena of the circle is 5544 cm’, What is the area
of the rectangle if the length of the rectanzle is 40 cm?

Options:
}
1 ® 1120 cm”

~ % 1020 cm?
= % 1140 cm?

4 v 1040 cm?

Question Number : 63 Question Id : 5832241043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Lo 1120 =7 @A
. = 1020 =97 A
o = 1140 o7 T
4 » 1040 97 TA
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Question Number : 64 Question Id : 5832241044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I1 the first half of Enghsh alphabet is written in the reverse order and the other half in the same English alphabetic order,
which letter will be the 9" letter to the left of 16™ letter from the lefi?

Options:

1 ® H

¢ G

= B J

4 % K

Question Number : 64 Question Id : 5832241044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 ®= H

2 ¢ G

SHJ



4 % K

Question Number : 65 Question Id : 5832241045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the certain code. MONKEY is written as XDIMNL. How 1s TIGER. written in the code?

Options:

, v QDFHS
> % SDFHS
5 % SHFDQ

4 % UJHFS

Question Number : 65 Question Id : 5832241045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

vw BfPas =i g &, MONKEY Fr XDJMNL Tram =mar &1 55 = o897 & TIGER &7 74m Brar

= EED .:
Options:

. »~ QDFHS
. » SDFHS
- = SHFDQ
. # UJHFS

Question Number : 66 Question Id : 5832241046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If Manish is to the east of Rohit and Sandeep is to the south of Rohit, then in what direction is Manish
in relation to Sandeep?

Options:
1 % South

> % North
3 « South-East
4 % North-West

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 66 Question Id : 5832241046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1. ® GG
o R Scdl



3 v & tﬁ

4 ® Jrﬁ{'ﬁﬂﬁ

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 67 Question Id : 5832241047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pointing out to a lady, & girl said, “She is the davghter-in-law of the grandimother of mv father’s cnly son.” How is the
lady related to the girl?

Options:

1 # Sister-in-law
> « Mother

=z % Aunt

4 % Mother-in-law

Question Number : 67 Question Id : 5832241047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| w ST
o v Al
- % =T
4_%%

Question Number : 68 Question Id : 5832241048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Study the following ammangement carefully and answer the question given after it:
BSCMENLETIYOSuQST*WZ3IUE%A4

If all the vowels are dropped from the above series, which of the following would be the eighth element to the right of
the thirteenth element from the left end?

Options:

1.4 4

o B 3

T R 0%

4 % C

Question Number : 68 Question Id : 5832241048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



FrRTATEE =ery 1 AEUEEE e HiT 3uE 9 By v niw /oI &
BCM@NET2Y6S50QS7*WZ3UE®BAL

s AT A S FEr T (vowels) ST e R ST R O eRET A R AT S O B
STES 399T & oI AT 57 MToST MNEUw Wi ' g

Options:

1. ¢ 4

o & 8

z ® OHE

4 % C

Question Number : 69 Question Id : 5832241049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. a number series 1s given with one term missing. Choose the
correct alternative that will continue the same pattern and fill in the blank spaces.

1,9. 17, 33.49, 73, ( )
Options:
1.+ 97

> B 08
T R 09
4 % 100

Question Number : 69 Question Id : 5832241049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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1,9 11 33,48, 713, ()

Options:
1.« 97
o ® 98-
o ® 99‘
4 % 100
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Correct: 1 Wrong: 0

Vikram Sarabhai Space Centre (VSSC) is situated at:
Options:

, » Hyderabad

> % Mumbai

-  Thiruvananthapuram

, % Bengaluru

Question Number : 70 Question Id : 5832241050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 71 Question Id : 5832241051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
United Nations General Assembly declared the year 2013 as:

Options:
, « International Year of Water Cooperation

-~ % International Year of Space Cooperation
- » International Year of Air Cooperation

, » International Year of Science and Technology Cooperation

Question Number : 71 Question Id : 5832241051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 72 Question Id : 5832241052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Nobel Peace Prize 1s awarded in which city?
Options:
, w Brussels. Belgium

5 w Geneva, Switzerland
-  Oslo. Norway
4 % The Hague. Netherlands

Question Number : 72 Question Id : 5832241052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 73 Question Id : 5832241053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The “Moortidevi Sahitya Puraskar’ is instituted by which of the following organization?
Options:

, % Ministry of Education

-~ % Sahitya Akademi

- » Bharatiya Vidya Bhavan

4  Bharatiya Tnanpith
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Question Number : 74 Question Id : 5832241054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was the winner of the Champions League T-20 20147
Options:
, w» Kolkata Knight Riders (India)

- # Rajasthan Royals (India)
- » Sydney Sixers (Australia)
4  Chennai Super Kings (India)

Question Number : 74 Question Id : 5832241054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 5832241055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the author of the book ‘My Experiments With Truth'?

Options:
1 #% Maulana Abul Kalam Azad

> # Govind Ballabh Pant
% « Mahatma Gandhi

4 % Tara Ali Baig
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Marital Rape in India has becorme a comrnon issue. [t has been affected by many legal and cultural factors,
which includes the fact that it is not being viewed a5 a crime in India. Legally, it is not criminalized and
culturally, it 15 accepted as a norm of marriage. It is more widely experienced by women, though not
exclusively. [t is often a chronic form of violence for the victim, which takes place within abusive relations. It
exists in a cormnplex web of state governments, cultural practices and societal ideologies which combine to
influence each distinct instance and situation in varying ways. Indian society is a strongly patriarchal one,
with a large preference placed on sons over daughters. This leads to many sex-selective abortions and female
infanticide. Son preference does not only occur through those means, however. Farmilies invest in their sons.
This in turn, leawves the daughters without resources and they often get married at a very young age. 47
percent of girls will be married before they are 18, which means they will be less likely to finish an education
and are at a higher risk of abuse and premature pregnancy. Wornen, who survive this discrimination from
birth, face even more discrimination throughout their lives from violence to inadequate healthcare, bad diet,
and more. Beyond this outright discrinmination, there are nurmerous societal traditions that place husbands in
charge of their wives and those wives often at the mercy of their hushands. MNinety four percent of rapes in
India are cornmitted by sormeone the victim knows. It is also found that wormen are forty times more likely to
e assaulted by their hushands than by the strangers. Becent cases have led to more media coverage and
further understanding of the issue. As of now, statistics show that incidents of rape in India are steadily
increasing. Monetheless, reports of rape remain low. The Indian Penal Code section 275 addresses the crime of
rape. The law defines rape in several ways, such as against the worman's will or consent, obtaining her consent
through threatening her or somecne she cares for, making her believe the perpetrator is her legal husband, if
she is unconscious or under the influence of any drugs or alcohol or if she is under fourteen vears of age.
There is also an exception that says that it will not be termed as rape, if it is a man and his legal wife, who is
more than fifteen years of age. IPC Section 376 outlines the punishments for rape, most of which are fines or
jail time up to ten years. In a high court in 2012, it was ruled that if a8 worman denied for sex with her
husband, it was a form of abuse.
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